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(a) Show that is an integer and find its value

50 + T8
k ®

(b) Express ;ﬁ =1 inthe form m + n7, where 7 and n are integers.

7+5 @
(Total 7 marks)
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(a) () Express /8 inthe form kv, where kis an integer.
()

VB
i) Simplify =
o Y v @
(b) Express Wi-v3 in the form m + /i, where m and n are integers.

W2-V3 @

(Total 8 marks)
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(@ () Express Va8 inthe form nv/3, where 7 is an integer.

(i) Solve the equation
WiZ=73-VE

giving your answer in its simplest form

1V3+2V5
2345

(b) Express in the form m — /15, where m is an integer.

()

@

@
(Total 8 marks)
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(i) Showthat (3y2 - 1)2+ (3+ /)% is an integer and find its value.
@

45-7V2 in the form m — \/n, where m and n are integers.
2V5+v2 @

(Total 9 marks)

(b)  Express
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Express 3V3 =6 in the form m + nv/3, where m and n are integers.
2343

(Total 4 marks)




